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IRAFLEEET 3,647, 017FH ER—AHTZY £ 7. 99FH)
IR A 572 %
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K % PHRE | WAFE | LoE | WA=
1 HEERVEESE 6,246,697 3,473,445 97.9% 55.6%
2 FRAMRTFHH 5,190 3,902 0.1% 75.2%
3 BFEURA 1 0 0.0% 0.0%
4 FEIRA 10,479 169,670 0.2% 1619.1%
1)HEETEERF 100 99 0.0% 99.0%
2)ZEEXRA 3,493 1,950 0.1% 55.8%
A 6,886 167,621 0.1% 2434.2%
5 f&1E 113,300 0 1.7% 0.0%
6 EXH& 2,279 0 0.0% 0.0%
= 6,377,946 3,647,017 100.0% 57.2%
(2) %
FHIRESE 6, 377, 946FH ER—AHY $13. 97FH)
X HFEGE 2, 852, 719FH ER—AHZY # 6. 25FM)
BATE 44-7 %
(B4 FH)
1 BRE 2,643 341 0.0% 12.9%
2 BEE 3,706 1,468 0.1% 39.6%
DNIRBEERE 3,638 1,468 0.1% 40.4%
2)BEEBEREE 68 0 0.0% 0.0%
3 HEFE 6,201,788 2,772,730 97.2% 44.7%
4 NEE 156,967 78,180 2.5% 49.8%
5 P& 12,842 0 0.2% 0.0%
=l 6,377,946 2,852,719 100.0% 44.7%
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AEHBE 3,604.57
ROE 349.10
BEENE 896.16
EENE 367.13
EBENE 330.80
IOZEH L E 818.37
EnE 484.44
BanE 482.86
B HE 501.48
KFRDE 431.36
EFHBE 901.31
anE 968.90
HREEEE 934.34
BENE 678.44
HEHBE 1,511.00
SR IRAT 571.70
ERRE] RS 1,879.42
o 5 R 129.60
& &t 15,840.98
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